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MATHEMATICS 11" |

(OBJ ECTIVE PART ) 2RSS

1. 5.333 ..ic
(@) = Wzt andl, (b) Irrational (c) an integer (d) a prime number
1 I‘.J | “mis,

"\a) Rational (b) ¢ Irrational (c) Natural number (d) None

3.  Multiplicative inverse of '0’ is

@ o (b) any real number (c) ¥ notdefined (d)1

4, Golden rule of fraction is that for k + 0,% =

(a v (b) (0% (d) =

5. The set {1, —1} possesses closure property w.r.t

(@ "+’ (b) vV 'x' ()" =" (d)y' ="'

6. If a < b then

(@) a<b (b)- < ¢ =>- (dya—b>0

7. The multiplicative identity of complex number is

(@) (0,0) (b) (0,1) (c) v (1,0) (d) (1,1)

8. The multiplicative inverse of (4, —7) is:

@ (-2 (b) (=, ) © (G —=) @ v (D)

9. (0,3)(0,5) =

(@) 15 (b) ¢ -15 (c) —8i (d) 8i

10. (-1)"2 =

(@) i (b) vV -i (€)1 (d)-1

11.  Factorization of 3x? + 3y? is:

(@)  Bx+3yi))(Bx—3yi) (b) ¥ 3(x+iy)(x—iy)(c) (x —iy)(x +iy) (d)None of these I o |
12. The product of any two conjugate complex numbers is e AN ' I
(a)  ¥/Real number (b) complex number  (c) zero__, _’J) (Y I -
13. Identity element of complex number is _ \ Ve T b ) Fu b
(0,1) (b) (0,1) () (Ou) = (e (Lo L

14. Ifz1and z2 are comr‘lex numbers th¢n | Z.L-l' z’| sl e

(a) <|zi+z,| ' x (B =)z 1+ 1| ) |z2esd (d) None of these

15. The figure repregert. ng (ne o niore ccmpleéxsiumbers on the complex plane is called:

(a) Cartesiannlgme | | (5)Z-Plyne (c) Complex plane (d) ¥/ Argand diagram

16. -y~ 4l.l-_";'|r'crrer‘c*..’r°, }

N, (.é.)J | Kl hamisers” (b) ¢ Imaginary numbers (c) natural numbers (d) Rational numbers

7 fz=x+ iy then |z| =

(@) x*+y? (b) x* — y? (c) vV yx?+y? (d) yx? —y?

18. zz =
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z? (b) z (c)z (d) ¢ |z|?
(z—-2)%is
Complex number (b) ¢ Real number  (c) both (a) and (b) (d) None of these
j101 — ) ¢
1 (b) =1 (o) Vi () 2
The set of odd numbers between 1 ar<,9 are v _
(1,3,5,7} (b) {3,5,7,9} (& [1,3,8,7,9 19) v {55,7}
The sets N and ) &l sots. A\
Equal (9) WwlEcuivélent \(cy Nat-cqual (d) None of these
Which of theipllowiny is true?'
NG R |Z WRcZcQcN ()ZcNcQcR (d VY NcZcQcR
Thi2'2inpty set is a subset of
Empty set (b) ¢/ Every set (c) Natural set (d) Whole set
Total number of subsets that can be formed from the set {x,y, z} is
1 (b) ¥V 8 (c)5 (d)2
A set having only one element is called
Empty set (b) ¢ Singleton set (c) Power set (d) Subset
The set of odd integers between 2 and 4 is
Null set (b) Power set (c) ¢ Singleton set (d) Subset
A diagram which represents a set is called
v/Venn’s (b) Argand (c) Plane (d) None of these
AU =
0] (b)U (c) VA dUu-—-A4
A-U=
Vo (b) A (c)U dUu-A
n(AUB) =
v'n(4) +n(B) (b) n(4) — n(B) (c) n(B) — n(4) (d) n(A)n(B)
IfAS BthenAUB =
A (b) V' B (c) A€ (d) B¢
If A and B are disjoint sets then :
VANB =g (b)ANB # ¢ (c)AcB (dA-—B=¢
IfU = N then :
E'=E,00=00)E'=U0=U () VE =00 =E (d)Nonestese| |
If the intersection of two sets is the empty thesetsare vatied T || () | ™ ° » )
v Disjoint sets (b) Overlapping Sets | c) Suhz&is | W (c) Fcwer ety
(AUBY = _ — AR TVAR RS R
AUB G AT B s (d)AUB'
Take any set, say A= {1,2,3,4, ﬂ"tljjéi: AUQ =
VA [ \ _(["j gl (U (d) None of these
IRx ) -_Il (L Men L is equal to
WM (b) L (c) @ (d) M’
Ifx € LU M then
xé&Lorx¢M (b)x ¢ Lorx e M (c)x€Lorxe¢ M (d Vx€ELorxeM
For the propositionspand qg,p —» (pV q) is:
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(a) ¢/ Tautology (b) Absurdity (c) Contingency (d) None of these

41. The symbol which is used to denote negation of a proposition is

@) v~ (b) = (c) A (d)v

42. Truth set of a tautology is 1¢
(@) ¥ Universal set (b) ¢ (c) True : (d) False

43. A statement which is always falls is called |

(a)  Tautology (b) ¢ Absurdity 14 Cont‘mg'a.\cy ) (d)'Centra jhositive
4., p-o ~pis ) ' ' ‘

(a) Tautology - (1) & Absurdity, “Jr)-Coritingency (d) Contra positive
45. Ina proposition it p'-» q then'q - 'nscalled

(@) Invers@atpiolq (4 converse of p = q(c) contrapositive of p = q(d) None

36| % fonira pt:) iidve of ~p - ~q is

e | g (b) V g—-p (c)~p—q (d)~g->p

47. The symbol “3” is called

(a)  Universal quantifier (b) ¢ Existential quantifier (c) Converse (d) Inverse
48. The symbol “V” is called

(a) ¥ Universal quantifier (b) Existential quantifier (c) Converse (d) Inverse

49. Truthsetofp Agqis

(a) vPnQ (b)PUQ (c)P—-Q (dP+Q

50. P = Q is the truth set of

@ p=gq (b)p—>q (c)vVpog dp=gq

51. Truth set of a tautology is the

52. Power set (b) Subset (c) ¢/ Universal set (d) Superset Ify=+/x,x>0isa
function, then its inverse is:

(a) Aline (b) a parabola (c) a point (d) ¢ nota function

53. A (1 -—1) functionis also called:

(a)  ¢Injective (b) Surjective (c) Bijective (d) Inverse

54. If set A has 2 elements and B has 4 elements, then number of elementsin A X Bis:

(a) 6 (b) ¢ 8 (c) 16 (d) None of these

55. Inverse of alineis:

(a) Vv Aline (b) a parabola (c) a point (d) not defined _
56. The function f = {(x,y),y = x}is: T
(a)  ¢¥Identity function (b) Null function (c) not a function (d) similar £apction L
57. Therange of {(2,1),(3,2),(4,3),(5,4),(6,5)} - NN VRPN

(@) {2,34,5,6} (b) ¢ {1,2345} 0 {2134 |\ Udi{1,235 L

() V0 o E e N e

59. Theset{1,—1,i --ffi}"-wlwdr'eaix_: /_1 is clpse r i~

(a) + At i () (d) +

60. The se7 (1,6 w2} where 1=y —T is closed w.T-. t

ta)f [\ (b) ¢ x (c) * (d) +

w165, | N |s..closed w.r.t
@)+ (b) X (c) ¢ both (a)and (b) (d) =

62. Inverse and identity of a set S under binary operation * is
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63. ¢/ Unique (b) Two (c) Three (d) Four The set of natural

number is not closed under binary operation

(@ + (b) x (c) both (a) and (b) (d) ¢ - _ o |I

64. Theset{1,—1,i,—i}is notclosed w.r.t ] W -

(a v+ (b) x (c) botk<{a) and (b) d) dané,of {hese ’

65. (Z,.)is _ ' W '

(a) Group (b) ¢/ Semi-groub () closed ) (d)'Nst clogled

66. Subtraction is nca=Chnimutative-and. rion-associative ¢n '

(a) VN - () F . = A (d)Q

67. A semi-group.having &n iden’ity ig calted

68. Grouph | n" %)~¢ monoid (c) Closed (d) Not closed Foreverya,b € G
N .1J*I'b £ 15K a'ttleir-G is called

&) | CGroup (b) Monoid (c) Closed (d) ¢ Abelian group

69. Ingroup (Z,+) inverse of 1is

(a) 1 (b) ¢V -1 (c)o (d)2

70. Ingroup (R — {0},X) inverse of 3 is

(a) v% (b) —3 (d) 0 (d) 2

71. Inagroup theinverse is

(a) ¥/ Unique (b) two (d) three (d) four

72. Arectangular array of numbers enclosed by a square brackets is called:

(a) ¢ Matrix (b) Row (c) Column (d) Determinant

73. The horizontal lines of numbers in a matrix are called:

(a) Columns (b) ¢ Rows (c) Column matrix (d) Row matrix

74. The vertical lines of numbers in a matrix are called:

(a) ¢/ Columns (b) Rows (c) Column matrix (d) Row matrix

75. If a matrix A has m rows and n columns , then order of A is :

(@) Vmxn (b)n xm (chm+n (d) m™

76. [1 —1 3 4]isanexample of

(a) v/Row vector (b) column vector (c) Rectangular matrix (d) Square matrix

77. The matrix A is said to be real if its all entries are

(a) Rational (b) ¢ real (c) natural (d) complex

78. If a matrix A has different number of rows and columns then A is called: _ — _' #._ b |I

(a) Row vector (b) ¢ Column vector (c)square matrix (d) RectangulairThate ' } 1 b

79.  For the square matrix A = [@;j],xn then agq, @zz, Azz @yp are:  —~ 5 5 | - .

(a) ¥ Main diagonal (b) primary diagonal '-'g:) procidirig dialondl 1d) se conda y Gizgonal

80. For a square matrix A = [a;;]if all a;;|=\0, i 7 and ziig) = iz(noh'\— zexe) for | = j then A is called:

(@) Diagonal matrix .~ [ | (b) # Scaiar (atlix! (c) Unitshatiix—"" (d) Null matrix

81. A square matrix s singllapif | L BN =

(a) VAl =0 o AED L (94 =0 (d)A =0

82. If ords:oi faairix .1 it ‘m'x.2'and order of matrix B is n. X p then order of matrix AB is

(a)J" i il NN (b)n X m n Xp d) Vmxp
W | l',3_. | in géneral matrix multiplication is not

1a) ¢/ Commutative (b) Associative (c) Closure (d) Distributive

84. (AH' =

(a) A* (b) V A (c)-4 (d) (45)*




106.
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For any matrix A , it is always true that

(a) A=at (b)-4=A4 (c) ¢ |Al = |4 (d)Aat=2
86. If all entries of a square matrix of order 3 is multiplied by k, then value of |kA| is equal to: _ - T |I
(@  klA] (b) k?|A] (c) v K3|A| (d) |AL I
87. For a non-singular matrix it is true that : : ] RNy ;
(@) @AHl=4 (b) (A =4 A=A 'dj o 2l o these”
88. For any non-singular matrices A and 3 it is trugsinat: — ' | o [
(@) @A@B)"t'=pB"141 (b) (AB)e==Bl AL | \(c, AB'#/BA - (d) ¢ all of these
89. If a square matrix. has iwo dentizai 1pwg.or#yro dex=tical columns then
(@) A=0 b)) WAl =G T (At =0 (dAa=1
90. If a matriiis it triingulai {orin, <hen its determinant is product of the entries of its
(a)F Lower t.'iér.gb[al rhgirix (b) Upper triangular matrix (c) ¢/ main diagonal (d) none of these
[ | it )l i='non-singular matrix then A~1 =
a) vﬁ adjA (b) — ﬁade (c) % (d) |A|al =
rcosp 1 -—sing
92. 0 1 0 =
rsing 1 cose
(@) 1 (b) 2 (c) Vr (d)r?
1 2 3
93. 4 5 6=
7 8 9
(a) 1 (b) 2 (c) VO (d)-1
9. (A1) =
95. A7! (b) (A~1)¢ (c) v (4H™ 1 (d) At
96. A square matrix A is skew symmetric if:
(@) Al=4 (b) v At = —A (@) =4 (d) () =-4
97. A square matrix A is Hermitian if:
(@) Al=4 (b) A* = —A (v (@) =4 (d) () =-4
98. A square matrix A is skew- Hermitian if:
(@) Al=4 (b) A* = —A (@) =4 (d) v (@) =-4
99. The main diagonal elements of a skew symmetric matrix must be:
(a) 1 (b) 0 (c) any non-zero number (d) any complex number
100. The main diagonal elements of a skew hermitian matrix must be: _ — _' #._ b |I
(@) 1 (b)¢ 0 (c) any non-zero number (d) any complex nuiher— r 11 w
101. In echelon form of matrix, the first non zero entry is ca'ied: e AN ; | | e -
(a) ¢ Leading entry (b) first entry _ '-L-:) precadinzentry | | Yd)D aganal efitmy
102. A square matrix A = [a;;] for which ;= 04 5 ¥ thei A i balled: |11 L |
(@) ¥ Upper trianguler, I (b) Lawes triar}gu"kir ' (ch dynwretric—" (d) Herm.itian
103. A square matrix'# —) [a"ﬂ'f;t. ~>_Nh_i-c'_1 Gy, =@, i"g [ rheiA is called:
(@)  Uppertriangular | 1 (b} ¢ Lo A/'t'\r.;'.r.idn'gular(c) Symmetric (d) Hermitian
104. IfAis 3_ym'n_}glt:ic (5keéwy sir'ametric), then A2 must be
(aIJ'I' ._.":Er-g_..l‘ar ._I (b) non singular (c) ¢ symmetric (d) non trivial solution
-105. Ina homogeneous system of linear equations , the solution (0,0,0) is:
(a)  ¢/Trivial solution (b) non trivial solution (c) exact solution (d) anti symmetric

If AX = 0 thenX =




1133,

(a)
114.
(a)
115.
(a)
116.
(a)
117.
(a)
118.
(a)
119.
(a)
120.
(a)
121
(a)
122,
(a)
123
(a)
124,
(a)
125
(a)
126.

127,
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I (b)¢ 0 (c) A1

(d) Not possible

If the system of linear equations have no solution at all, then it is called a/an

Consistent system (b) ¢ Inconsistent system(c) Trivial System
bx + ¢ = 0 will be quadratic if:

a=0,b+0 (b) ¢V a+#0 (cJa=h=0
Solution set of the equation x* — 4x + 4 = 0is: _
{2,-2} (b) v {2} ) =733

-b+vbZ-dac. “pvial —4ac =a%Vb%—4ac
Vx=———= (0) = ——=—- ol =————
2a zb - 2
How many techniqug; t¢ folve quadlrstic equations.
1 [ ) L)z (c) V3
Fhidcluticn'of a gquadratic equation are called
+“Roots (b) identity

n

vVy=x" (b) x = y™ (©y=x"
The equation in which variable occurs in exponent, called:

(d) Non Trivial System

1%,

() 5=-aay weal husnbar

(d)if4: —43} |

. The quadratic formr:iaifor solving-the '2q'1ation ax* +bxz 4 e=0-x#0is

(d) None of these

(d) 4

(c) quadratic equation (d) solutionTo convert
ax®™ + bx™ + ¢ = 0(a # 0) into quadratic form , the correct substitution is:

(d)y ==

X

v/ Exponential function (b) Quadratic equation (c) Reciprocal equation (d) Exponential equation

To convert 41t* 4+ 417* = 10 into quadratic, the substitution is:
y=x"" (b)y = 41+ (c) vVy=4
The equation x* — 3x3 + 4x% — 3x + 1 = 0 is example of
Exponential equation
The cube roots of unity are :
‘/1,—1+\/§z -1—v/3i

1+v/3i 1+V/3i —1+V3i —-1+3i

2 (b)1, ==, (€) -1, ——.—
Sum of all cube roots of 64 is :
Vo (b) 1 (c) 64
Product of cube roots of -1 is:
0 (b) -1 (c) V1
16w + 16w* =
0 (b) ¢ -16 (c) 16
The sum of all four fourth roots of unity is:
Unity (b) VO (c)-1
The product of all four fourth roots of unity is:
Unity (b)O (c) vV -1
The sum of all four fourth roots of 16 is: —
16 (b) -16 ) Vv 10}
The complex cube roots of unity are.,.......... _=each ctherr)
v/ Additive inverse — (b) Equal.te (c} Coitjugates. .

The complex folirth rogts cf unity are \.....of ea chiocher!—

v/ Additive inverde 0 epualto, |\ (c) square of

The cube a0 of -1 ate | ! - B

{:‘-.r.."")v Uz] i, (b) {11 —w, wz} (C) V {_11 -, _wZ}
T a'avpression x% + % — 3 is polynomial of degree:

2 (b)3 (c)1 (d) ¢
If f(x) is divided by —a , then dividend = (Divisor)(.......)+ Remainder.
Divisor (b) Dividend (c) ¢ Quotient

RN R

(d)y=47*

(b) Quadratic equation (c) Radical equation (d) ¢ Reciprocal equation

1+v3i 1++/3i

2 2

(d) -1,
(d) -64
(d) None
(d) -1

(d) None
(d) None

(d) None of these
(d) None of these

(d) {_1: w, wZ}

not a polynomial

(d) f(a)
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129. If f(x) is divided by x — a by remaindertheorem then remainder is:
(@ v f(@ (b) f(~a) (c) f(@) +R (d)x—a=R
130. The polynomial (x — a) is a factorof f(x) if and only if
(@ ¢V f(a)=0 (b) f(a) =R (c) Quotient = R (d)x = —a—
131. x — 2 is a factor of x* — kx + 4, if k is: _ ; ) [
(@ 2 (b) ¢ 4 =) 8 (o -4
132. If x = —2 is the root of kx* — 13x2 | 26 = (i-thei k= | B _
(@) 2 . (b) -2 (chd . d) ¢ -1
133. x + ais a factor.of A™ - @™ 'whejin i ' "y
(a) Anyinteger - (k) any pdsitive integer (cj v/ any odd integer (d) any real number
134. x — ais afacthr of xT''— al* wwhean is
vV Asy Integet| —' "(b) any positive integer (c) any odd integer (d) any real number
J | 'Sulr..cfroots of ax? —bx —c = 0is (a # 0)
a2 (b) -2 (0= (d) v -5
135. Product of roots of ax? — bx —c = 0is (a # 0)
(a) v (b) -2 (0= @ -<
136. If 2 and -5 are roots of a quadratic equation , then equation is:
(@) x*—=3x—-10=0 (b)x?2—=3x+10=0 (c) ¥V x?>+3x—10=0(d)x*>+3x+10=0
137. If a and B are the roots of 3x? — 2x + 4 = 0, then the value of a + f is:
(@) V3 (b) = (3 (d)—3
138. The equation whose roots are given is
139. x2+Sx+P =0 (b)x2—Sx—P=0 (c)x>?+Sx—P=0(d) Vx2—Sx+P=0
If roots of ax? + bx + c = 0, (a # 0) are real , then
(a) ¥ Disc=0 (b) Disc< 0 (c) Disc# 0 (d) Disc< 0
140. If roots of ax? + bx + ¢ = 0, (a # 0) are complex, then
(a) Disc=0 (b) ¢ Disc< 0 (c) Disc# 0 (d) Disc< 0
141. If roots of ax? + bx + ¢ = 0, (a # 0) are equal , then
(@) ¢ Disc=0 (b) Disc< 0 (c) Disc# 0 (d) None of these
142. The expression b? — 4ac is called:
(a) ¢/ Discriminant (b) Quadratic equation (c) Linear equation (d) roots
143. Discofx* +2x+3 =0s
(a) 16 (b) =16 (c) ¢V -8 (d)—16 e
144. An open sentence formed by using sign of “ =" is called a/an - . =31
(a) ¥/Equation (b) Formula (c) Rational fraction . < -.Idl) '[-ng:-;ém"
145. If an equation is true for all values ofthe variable, ther! itjis czll¢d?! | AR . " -
(@) aconditional equation (b) ¢ anidentity i) r:roper"-‘a‘-tié-nal frastion', Y (d) All of these
146. (x+3)(x+4) =x2+ 7x+ 12isa/an) | - 1IRER! I
(a) Conditional equ.n't_-_i'girr._ (553 Vm_a'n._identl Yo \\"'c)"lo.'qrié‘.' rational fraction (d) a formula
147. The quotient of t VC._[._O|',_’I-J_0r.:Ii;!|SI I;—\(% ,':('2(‘.3) %0 is called :
(a) V_I_Rat.’.-gnzfl_:.’fla ‘tioth \! (l:)47ational fraction  (c) Partial fraction (d) Proper fraction
. +-4J;TI' ._,_\;1'.'3-r:':io.‘.1| Q)—(g @ (x) # 0is called properfraction if :
,, faj/ ¢ Degree of P(x) < Degree of Q(x) (b) Degree of P(x) = Degree of Q(x) (c) Degree of
.P(x) > Degree of Q(x) (d) Degree of P(x) = Degree of Q(x)
149. A fraction M, Q(x) # 0is called properfraction if :

Q(x)
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(@) Degree of P(x) < Degree of Q(x) (b) Degree of P(x) = Degree of Q(x) (c) Degree of
P(x) > Degree of Q(x) (d) ¢ Degree of P(x) = Degree of Q(x)

150. The number of Partialfraction of #ﬁxz_l)are:

(a) 2 (b) 3 (c) V4 (d) Morie (wa thcse”
151. The number of Partialfraction of #ﬁxz_ﬂm:: ' ' ' :

(@) 2 (b) 3 W VL () 5

152. ngl is an N ' '

(a)  Improper fractiott 1) W Projer fractice—\c) Polynomial (d) equation

153. An arrangem:ntof r'umhérsiadcordiing to some definite rule is called:

(a) v’Seq;e';c'a. 1 '<{b) Combination (c) Series (d) Permutation

134 Al seqiterc2is also known as:

"fa}_| Real sequence (b) ¢ Progression (c) Arrangement (d) Complex sequence
155. A sequence is function whose domain is

@@ =z (b) V' N (c)Q (d) R

156. As sequence whose range is R i. e., set of real numbers is called:

(a) ¥ Real sequence (b) Imaginary sequence (c) Natural sequence (d) Complex sequence
1. Ifa, = {n+ (—1)"},thena,, =

(a) 10 (b) 11 (c) 12 (d) 13

157. The last term of an infinite sequenceis called :

(a) nthterm (b) a, (c) last term (d) does not exist
158. The next term of the sequence —1,2,12,40,...is

(a) 112 (b) 120 (c) 124 (d) None of these
159. Fora, = (—1)™1,ay, =

(@ 1 (b) ¢V -1 (c)o (d)2

160. The next two terms of the sequence1,-3,5,—7,9,—11, ... are

(@) 13,15 (b) —13,—15 (c) ¥ 13,—15 (d) —13,15

161. Fora,=5.,a; =

(a) 2 (b) V3 (c)4 (d)8

162. A sequence {a,} in which a,, — a,,_; is the same number foralln € N,n > 1 is called:

(a) VAP (b) G.P (c)H.P (d) None of these
163. nthterm of an A.P is 3n — 1 then 10" term is : g

@@ 9 (b) ¢ 29 (€12 (&Y ¢5niol| dbtermingd
1. Fora,—a,_1=d — VY e WY e
(@ n=0 bn=1 ¢\ o easi )\ ddeel) |
164. fa,_1,a,, a,, 'é'l;e._in_A.P_aihe.'i a, s . | A

(a) VAM L dr L g HMm (d) Mid point

165. Arithmetic mzan belvredrc and ¢ s

QI NN 0) 5g e () ==

3ICJ5‘| Thi'alithinetic mean between V2 and 3+/2 is:

..‘a.j C 42 (b) % (c) vV 2V2 (d) none of these
167. a”+b” may be the A.M between a and b if

an—14pn-1

vn=1 (b)n=0 (c)n>1 dn<1
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168. The sum of terms of a sequence is called:

(a)  Partial sum (b) ¢ Series (c) Finite sum (d) none of these
169. Forth partial sum of the sequence{n?} is called:

(a) 16 (b) ¢ 1+4+9+16 (c)8 (d) 1424344,

170. Sum of n —term of an Arithmeticseries S,, is equal to: : AN

(a) Vg [2a+ (n—1)d] (b) g [a+ (nm—1)d] i) g [20 + G D) d g IZa + ]

171. For any G. P., the common ratio r is eql..al teq ~ | ! - f

(@) ¢ aiil . (b) aj—;l " (e, a—;’i (2 Upe; —ap,nEN,n>1
172. No term of a G. 575! _ _ ]

(a) ¢0 L (b 1Y ) (c) negative (d) imaginary number
173. The gzrniniai lerm Ofd G2

I A i ~ (b)a,=ar® (c)a, = ar™t? (d) None of these
\19%| Goietricmean between 4 and 16 is

(a) 2 (b) +4 (c) £6 (d v 18

175. For whatvalue of n, % is the positive geometric mean between a and b?

@ 1 (b) 2 CHS: (d)3

176. The sum of infinite geometric series is valid if

@ Jr|>1 (b)|r| =1 (e rl=1 dv |rl<1

177. Fortheseries1 + 5+ 25+ 125+ -:- + oo, the sum is

(a) -4 (b) 4 (=" (d)¢ not defined
178. An infinite geometric series is convergent if

@ Jrl>1 (b)|r| =1 e Irl=1 dv |rl<1

179. An infinite geometric series is divergent if

(@ Irl<1 (b)|r] #1 (c)r=0 d) vV |r|>1

180. If sum ofseries is defined then it is called:

(a) ¥ Convergent series  (b) Divergent series (c) finite series (d) Geometric series
181. If sum of series is not defined then it is called:

(a)  Convergent series (b)¢/ Divergent series (c) finite series (d) Geometric series
182. Theinterval in which series 1 + 2x + 4x? + 8x3 + --- is convergent if :

(@) —-2<x<2 (b) V —2<x<3 (0 2x] >1 (d)|x] <1

183. If thereciprocal of the terms a sequence form an A. P., then it is called: _

() VH.P (b)G.P (c)A.P (d) seauerjcel.

184. Thenth term of%,%,%,...is _ Ty i S | | N s

1 1 § 1 1 ]

(a) p— (b)3n—1 Vo gk ) )\ e

185. Harmonicmean bet:::2en 2 and 8is: | TWAR\BRY RS :

@ Vs 2\ PRy () | e (@35

186. If A, G and H are Aritpmiztic), Gecmetiic.2hd Harmonic means between two positive numbers then
(a) G%=AH VAL (o) A5G, H are inG. P (c)A> G >H (d)all of these

187 ¥ Ay G |and .I'"_:_ ré_Avitnmetic , Geometric and Harmonic means between two negative numbers then

‘G4 Al (b)A,G,HareinG.P ()A<G<H (d) ¢ all of these
. ,thenS,, isequalto:
2n+1 (b)¢ 4n’+4n+1 (c)(2n—1)? (d)cannot be determined

Yk=1 k3 =
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(a) n(nz+1) (b) n(n+16)(n+2) () v 112(12:1)2 (d) n(n+1)
190. Yy_,1= _
@ 1 (b) 0 (c) k () v n _ o O
191. = = e _
(a) V8 (b) 7 c) 56 | CER <
192. 0! = B |
(@ o ) (b) V1 (c; 2 1d) cannditbe defined
193. n! = | ]
(@ nmn-1 K (- 1) ic) (n—2)! (d) ¢ n(n—1)!
| | |

194, 2= - |
L)FEPY | Y] LT (b) V84 (c) 90 (d) 94
..BL" i =-tor|al form of? is

8! 8!
(a) 3l (b) ﬁ (c) vV 351 (d )%
196. 20p,-
(@) 6890 (b) 6810 (c) ¢ 6840 (d) 6880
197. If np,_30thenn =
(@ 4 (b) 5 (c)6 (d) 10
198. np -
@ n (b) p! (c) ¥V n! (d) (n—1)!
199. np -
@ n! (b):—: () vV (n’_“r)! (d) 7!
200. of n different objects is called permutation.
(a) Combination (b) ¢ Permutation (c) Probability (d) Arrangements
201. In haw many ways the letters of the “WORD” can be write?
(a) 2!ways (b) 3! ways (c) ¢ 4!ways (d) 5! ways
202. How many signals can be given by 5 flags of different colors, using 3 at a time
(a) 120 (b) 60 (c) 24 (d) 15
203. n¢, =
(@ n! (b) 0! (c) V1 (d)o
204. n¢ Xr!= _
(@ ng, (b) ¢ np, (c) ne, (d) r! " [ |i
205. n¢, = . .
(@ o (b) V1 (c)2 Ad) ik, -
206. For complementary combination n; = ,, B! | e
(@) ng, (b) ¢V nCn_T ' 10 e (d)'Nene/of these
207. Iifng, =nc,, then 17 = VWL A '
(@) 10 -~ | (n) v‘-’ 20 | ._“‘ \ I '(c)'.30 (d) 40
208. Ina permutatlon np.oT| R, itlis. amays true that
(a) Vnzw |, V)< () n<r dn<0,r<o0
“TO])TI' .." @A :l.n!\ Lt nGin-occurrence of ann?;l)ent Eis equarll(tsc;
QC.\ | 1= P(E) (b) P(E) + —= wE) (c )n(E) (d)1+ P(E)
210. Non occurrence of an event E is denoted by:
(a) ~E (b) vV E (c) E€ (d) All of these
211. A cardis drawn from a deck of 52 playing cards. The probability of card that it is an ace card is:
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2 4 1 17
@ (b) 5 € v = (d) 3
212. Four persons wants to sit in a circular sofa, the total ways are:
(a) V24 (b) 6 (c)4 (d) None of these |‘
213. LetS = {1,2,3,...,10} the probability that a number is divided by 4 is : _ 4
2 1 1 e /
(a) B (b) ‘/E .(C)E [ (d)i .
214. Adieisrolled, the probability of getting 3 or/5 i¢: !
2 15 =Y 75 | 7.
@ 3 _ (b) v — (C\_.E B _ 2] s
215. If E is a certain s:vent , then . —
(@ P(E)=0 i ‘t) W\ PTE) =11 SOV < P(E)<1 (d)P(E)>1
216. If E is an impgzssilile'eent then
(a) _ t/P(t)-::-O. W) P(E) =1 (c)P(E)#0 do<PE)<1
AlJI gaiaple snhcefor tossing a coin is:
&) () (b) (T} (c) {H, H} (d) V' {HT)
218. For independent events P(AU B) =
(@) P(A)+P(B) (b) ¢ P(A)+P(B)—P(ANB) (c) P(A).P(B)  (d) %
219. IfP(4) =5 ,P(B) =and P(ANB) = %then =P(AUB) =
1 2 1 1
@ 3 (b) V3 (c)5 (d);
220. If an event A can occur in p ways and B can occur g ways , then number of ways that both events occur is:
@ p+tq (b) V' p.q (c) (pq)! (d) @+ !
221. IfP(A) =0.8and P(B) =0.75thenP(ANB) =
(a) 0.5 (b) ¢ 0.6 (c) 0.7 (d) 0.9
1. The statement 4™ + 3™ + 4 is true when :
222. n=0 (b)n=1 (c) V n=>2 (d) nis any +iv integer
223. The method of induction was given by Francesco who lived from:
(a) v/ 1494-1575 (b) 1500-1575 (c) 1498-1575 (d) 1494-1570
224. The statement 3™ < n!is true, when
(@ n=2 (b)n =4 (c)n=6 (d vVn>6
225. General term in the expansion of (a + b)" is:
(a) (":1)a"‘rx"r (b)l/(rfl)a”_rxr (c) (2 )a™Tx" (d) (M)a™"x" _
226. The number of terms in the expansion of (a + b)" are: _ " |I
(@ n (b) vV n+1 (c) 2™ (d) _2”-'1-~ ]
227. Middle term/s in the expansion of (a — 3x)* is/are : R Y -
@ T ) v Ty () (@m&r | | (@Rl "
228. The coefficient of the last term in thelexpansivn of (2= x)"list | | |
(@ 1 RN AR R LA (d) =7
220 () + () + (i -\ G2 i dodpvest -
(@ 2n )t 28 (c) 22 (d) 227+
1. 14xmady B4 L
G ) N L) VA-0" () (L+2)72 (d) (1 -0
1220/ Tiie middle term in the expansion of (a + b)" is (g + 1) ; thennis
(a) Odd (b) ¢ even (c) prime (d) none of these
231. The common starting point of two rays is called:
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(a)  Origin (b) Initial Point (c) ¥V Vertex (d)AIl of these
232. If the rotation of the angle is counter clock wise, then angle is:
(a)  Negative (b) ¢ Positive (c) Non-Negative (d) None of these
233. One right angle is equal to ) 1¢
(a) l/%radian (b) 90° (c) %ro_f:tion {a)Al oi.these
234. 1°isequalto _ ' '
(a) 30 minutes (b) ¢ 60 minltes '(c)-;‘—ofr'\'nules () ;-:hin.xtes
235. 1°is equal to L | '
(a) V60 (h) 300" ||\ M) (d) 60"
236. 60" part of 12is equa tc,
(@) _Om2sdzene, £) ¢ One minute (c) 1 Radian (d) 7 radian
43r|' 2 raclianis
@) $9171.888° (b) 120° (c) 300° (d) 270°
238. Area of sector of circle of radius r is:
(a) 5720 (b) ¥ Sr0? (c)5 (r0)? (d) 5
239. Circular measure of angle between the hands of a watch at 4’0 clock is
240. g (b) ¢ 2?” (c) %ﬂ (d)% An angle is in standard
position , if its vertex is
(a)  Atorigin (b) ¢ atx — axis (c) aty — axis (d) in 1°* Quad Only
241. If initial and the terminal side of an angle falls on x — axis or y — axis then it is called:
(a) Coterminal angle (b) ¢ Quadrantal angl (c) Allied angle (d) None of these
242. 0°,90°,180°,270° and 360° are called
(a) Coterminal angle (b) ¢ Quadrantal angl (c) Allied angle (d) None of these
243. sin?0 + cos?0 is equal to:
(@ o (b) -1 (c) 2 (d) v 1
244. 1+ tan?0 is equal to:
(@) csc?6 (b) sin? @ (c) ¢ sec?8 (d) tan? @
245. csc? 0 — cot? 0 is equal to:
(@ o (b) V1 (c)-1 (d) 2
(@ I (b) (c) i (d) Iv .
246. IftanO < 0 andcosecO > 0 then the terminal arm of angle lies in Quad. {
(@ I (b) ¢ I (c) i (d) N, |
247. IfsecO < 0 andsin@ < 0 then the terminal arm ofa:.ﬂg[?lie.gin-_-._._"'_._' (),u_ad_' | -\ s
(@ | (b) Il NORZIRE dy v, ' '
248. The point (0, 1) lies on the terminal sia gavigle; | | - —
(a) 0° T (b) 2 50 | WL e ageed (d) 270°
249. The point (—1, G=Yics il the terminal id#of sigle: ™~
(@ 0° ARG EII R (c) v 180° (d) 270°
250. The paint (| --1)lie’ bnltie terminal side of angle:
ORIV IRNA (b) 90° (c) 180° (d) v 270°
:'.5_11_' 2dinase + > Cosecd5° =
@ 3 (b) vV = () -1 (d)1
252. cosecOsecBsinOcosO =

W
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(a) ¢1 (b) O (c) sinb (d) cos@
253. (secO + tanB)(secO — tanf) =
(a) V1 (b) O secH (d) tan® - |‘
254. — 0= N :
@ b v 0255 ke
255. Fundamental law of trigonometry is ;cps(a --.£) -
(@) ¥ cosacosp + sinasinf ( )| ccsarco: 58 “esingsinl
(c) sinacospB + cosasinp, (4) sinacosB = w¢ (ST
256. sin(a + B)is egsal qo: -
(@) cosacosf + sinasity ) ) (b) cosacosﬁ — sinasinf (c) ¥V
sinacosB {-Fascsin i .(d) sinacosf — cosasinf
. T JA .
. 45J7| ez M )=
"lajl cosp (b) - cospB (c) ¥ sinp (d) -sinp
258 sin(2m—0) =
(@) cosO (b) - cosB (c) ¢ sind (d) -sind
259. tan(a—B) =
tana—-tanf tana+tanf tana—-tanf tana+tanf
@ Vo anatanp (o) = anatang (©) " tanatanp () anatang
260. Anglesassociated with basic angles of measure 0 to a right angle or its multiple are called:
(a) Coterminal angle (b) angle in standard position (c) ¢ Allied angle (d) obtuse angle
261. sin(¥+6)=
(a) sind@ (b) cos@ (c) —sind (d) ¢ -cos@
262. cos 315°is equal to:
@ 1 (6) 0 © v % (%
263. sin(180° + a)sin(90° — a) =
(a) ¢ sinacosa (b)-sinacosa (c) cosy (d) - cosy
264. If a, B and y are the angles of a triangle ABC then cos (a;rﬁ) =
(@) ¢ sm; (b) - sm— (c) cos% (d) - cosg
265. Which is the allied angle
(@) ¢ 90°+0 (b) 60° + 6 (c)45°+6 (d)30°+ 6
266. ) cos11°+sin11° — )
cos11°-sinl11° I
(a) ¢ tan56° (b) tan34° (c) cot56° (d) cot34° = |I
267. 2.IfSin(a+ B)is-ive and Cos(a + B) is +ive then termmal arm of L2z B) I'I'es.-'i‘n, )
268. | Quad (b) I Quad (c) I Quad - ()’ VN Guad™, Coa B
269. sin2a is equal to: o AR R RIE RN N o
(@) cos?a —sin?a(b) 1.+ cos2a (e .‘.SL.jqac?s._x L v 2biiZacos2d
270. cos2a = DIRE ] - PR T AN
(a) Vcos?a —sin?Q ) - 2'sin?ly! | {€J2cos?a—1 (d)  All of these
271. tan2a =_, TRIRRE R
2tanc 10 _2iana 2tan’a tan? a
(a) T '_-.-_-.9._‘_33 H ‘L) ¢’ 1-tan? a (C) 1-tan? a (d) 1-tanZ a
AL s =
laj~ 3sina—2sin3a (b) 3sina + 2sin®a  (c) ¥ 3sina — 4sin3 a(d) 3cosa — 2sin® a
273. sina + sinf is equal to:
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(a) ¢ 2sin (a%ﬁ) cos (azi) (b) 2 cos (a:—ﬁ) sin (a;—ﬁ) (c)
—2sin (“Zi) sin (a;—ﬁ) (d) 2 cos (a%ﬁ) cos (a;—ﬁ)

274. sina — sinf is equal to:

(b) ZSil‘l(azj)COS(azi) (b) ¢ 2cos(———,51 (1—231 a'(c;

2 (22) o () 0 e

275. cosa + cosp is equal to:

(c) Zsm( )co ( /)) : by \h))(,ua\‘ )sm(#) | (c) -

2sin (a;ﬂ) sin (a;—ﬁ) i . \(d) s4-Zcos (%ﬂ) cos (“Zi)

276. cosa — cesfi|s eijuaito: \

(d) .2 5_13.(21_‘;‘.?" 705 ('mglé\ . (b) 2 cos (a ﬁ) sin (azi) (c) vV
_J 1 sha (”;'8) sin (“2;/3) (d) 2 cos (azi) cos (azi)

277. 2sin760cos30 =

(a) ¢ sin1060 + sin4d (b) sin50 — sin26 (c) cos108 + cos48 (d) cos58 — cos26

278. 2c0s50sin30 =

279. ¢ sin80 — sin20 (b) sin86 + sin26 (c) cos88 + cos26 (d) cos88 — cos20Range of y = secx is

(@ R (b) vV y=lory<-1 (c)-1<y<1 (d)R—[-11]
280. Range of y = cosecx is
(@ R (b) Vy=lory<-1 (c)-1<y<1 (d)R—[-11]

281. Smallest+ive number which when added to the original circular measure of the angle gives the same value of
the function is called:

(a) Domain (b) Range (c) Co domain (d) ¢ Period
282. Domainofy = cosxis
(@) VV—oo<x<o (b)—1<x<1 (c)—-o<x<w,xzna,n€Z (dx=>1x<-1

283. Domainof y = tanx is

(a) —w<x<ow (b)—=1<x<1 (v HrneZ (dx=1,x< -1

284. Period of cos0 is
(@) = (b) ¥ 27 (c) =27 (d)%
285. Period of tan4x is ]
(@ m (b) 2 (c) —2m (d) v 7 —. T
286. Period of cot3x is [ 13
(@) = (b)v = (c) —27 SN N |
287. Period of 3cos§ is \ ) | \ IR RN Y "
(a) 2= (b) RVFACI AR A el
288. The graph oftrlgortc mut-'::*.un.t ons b avt= x VAT T
(a)  Break segments (D) ! i arp ol ners. L) ey Seraigint Ilne segments (d) smooth curves
289. Curves ofthe trighnernetric fur, ctior:s repeat after fixed intervals because trigonometric functions are
(a) ~ Simpjé, I (h)lirgar' (c) quadratic (d) ¢ periodic
29 | ,_‘_FE\'.- Z1apn 0i-y = cosx lies between the horizontal line y = —1 and
el | e+l (b)O (c)2 (d) -2
291. A “Triangle’ has :
(a) Two elements (b) 3 elements (c) 4 elements (d) ¢ 6elments

292. sin38°24' =




In any triangle ABC, /W =

4 . B 4 a
sin— (b) sin= (c) ¢/ sinZ (d) cos>
In any triangle ABC, /%ﬁs_o =
. a . B Y g
t/sm; (b) sin< (c) sin2 (d) cos -
In any triangle ABC, ’(S_‘lz%_c) =
. a . p Y a
sin— (b) ¢ sin> (c) sinZ (d) cos>
In any triangle ABC, cos 2=
s(s—a) s(s b) s(s—a) s(s—c)
s (b) (© v |—5— ) =

In any triangle ABC, cos’zj =

s(s—a) s(s—b) s(s—a) s(s—c)
ab (b) v ac (C) bc (d) ab
In any triangle ABC, cos}z—' =
s(s—a) s(s—b) s(s—a)
ab (b) ac (C) bc
In any triangle ABC, with usual notations, s is equalt'n \ Y .
a+b+c +L-+c 1 | , 4 alic ™,
a+ b +cC (b) 1 ..-'L) —2 o1 i l"d"._z"-
In any triangle A'S’L' \j ss(s\—(c)) =
CS—E) -
smZ = ‘) dps AR A9 tané (d) cot%
In any.zidnzle ABC,' j(s %s)%)“ =
S | N (b) cost (c)¢ tank (d) cott
e 2 2 2

To solve an oblique triangles when measure of three sides are given , we can use:
v/ Hero’s formula (b) Law of cosine (c) Law of sine (d) Law of tangents
In any triangle ABC Area if triangle is :
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0.2611 (b) 0.2622 (c) 0.6211 (d) 0.5211
When @ increasesfrom 0° to 90° then sin0, sec and tanf go on
v/ Increasing (b) Decreasing (c) Constant (d) None of these |
When 0 increasesfrom 0° to 90° then cos0, cosec@ and cot6 go on I
Increasing (b) ¥/ Decreasing (c) Constant 12 '\ono ( f‘rhe,e
If sinx = 0.5100 thenx = - ' -
v/ 30°40' (b) 35°40’ : _(¢)\40°40/ L () p4c44’
When we look an_objcctabove the harizontai ray, «he _all_glu forined.is called angie of:
v/ Elevation | 5y-aepression ., lc)lircideiice (d) reflects
When we look ar| ofectl:elav tiie'hcrizontalvay, the angle formed is called angle of:
Elevation V() 4 depression (c) incidence (d) reflects
- Areaian gia vueidich-is\notright is called:
$'[Cbl que'triangle (b) Isosceles triangle  (c) Scalene triangle (d) Right isosceles triangle
In any triangle ABC, law of tangent is :
a-b _ tan(a—pB) (b) a_—l—b tan(a+pB) () v a-b _ ﬁ (d) a-b _ tanﬂ
a+b tan(a+pf) tan(a-p) a+b tana;—ﬁ a+b tan“%ﬁ
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(@) bcsina (b) %ca sina (c) %ab sinf (d)v %absiny
312. Inany triangle ABC, with usual notations, ﬁ =
(@) r (b) 7y (v R (d) A = |
313. In any triangle ABC, with usual notations, ﬁ = _ - [ [
(@) 2r (b)2 1y ’c) v 2k CLAN .
314. In any triangle ABC, with usual notaiions, sircv-= i L
(@ R v (c) = d)3
315. Inany triangle AE_?C, withi uSeal nistaticns-abs = _ )
(@) R b) Ks ) TT(0) vV 4RA (d)°
316. In an, nmr\gle AB C, vith Lsaal notations, fa =
) NN (b) R (c) v/ 11 (d) 7
3i Iri any triangle ABC, with usual notations, ﬁ =
(@ r (b) R (c)my (CIN
318. In any triangle ABC, with usual notations, sATc =
(a) V'3 (b) R (c)my (d) 7
319. In any triangle ABC, with usual notation , . R: 1 =
(a) 3:2:1 (b) 1:2:2 (c) vV 1:2:3 (d)1:1:2
320. In any triangle ABC, with usual notation, r: R:r{:1;:13 =
(a) 3:3:3:2:1 (b) 1:2:2:3:3 (c) ¥ 1:2:3:3:3 (d)1:1:1:1:1
321. Inatriangle ABC,if B = 60°,y = 15° thena =
(a) 90° (b) 180° (c) 150° (d) ¥ 105°
322. Cos x=
(a) %— cos™1x (b) V%— sin"!x (c)§+ cos tx (d)%— cosec” lx
323. Sec lx =
(a) % —sec lx (b) g —sin"1x (c) g +sec lx (d) v % — cosec™1x
324. Tan'x =
(a) Z—seclx (b) Z—sin"1x ()¢ Z—cot™1x (d) 2= cosec1x

2 2 2 2
325. Cot™lx=
(a) % —sec lx (b)V g —tan"'x (c) g +sec tx (d) % — cosec™1x
326. Sin ((,'os‘1 ﬁ) = »
@ = (b)v 3 (-2 @ Al (CLO)NYS
327. Tan_1(\/§) — ) — - e . e e

a — -— . c) -z hL L LY Hdiwv h—
(a) = (b) - % o U=z AT L YA S
. . _11 _ [ A ’ b k

328. Snll (Sm 2) PR .y VULV D Ve )
@ v @0 | e @3
329. 1. Sm-lA SinTt3="1 | VoA
(a)Jt;’ Sira Ay | ot B~ 5V 1 —AZ) (b) Sin~*(AvV1 — A% — BV1 — B?)
" |
' i .Sm‘l(B\/1 — A% + AV1 - B?) (d) Sin~1(AB/(1 — A®)(1 — B?))
330. 4.Tan"'A+ Tan 1B =

V' Tan™?! (A_B ) (b) Tan™? (A+B ) (c) Tan™? (A_B ) (d) Tan™? (A+B )

1+AB 1+AB 1-AB 1+AB




331.
(a)
332.
(a)
333.
(a)
334.

(a)
335.

336.

341.

342.
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Cos 1(—x) =
- Cos™'x (b) Cos™1x (c) ¥/ m—Cos™'x (d) m — Cosx
Tan 1(—x) = s |
v -Tan x (b) Tan™'x (c)m — Tan™'x (d) T — Tanz . I
Cosec 1(—x) = - N ~
v/ -Cosec™'x (b) Cosec™1x o) — Co scu‘l.'c {d) T —=Cos e
Cot‘l(—x) = ' : . nE
—Cot™'x (b) Cot™1x (c) l/n-—u,f X id) 7 — Cotx
If tan2x = —1, then scluion iii the interval 0, ‘I'[] .
- 3T
t/g L)— | - \c)? (d)T
If sinx + co5: = thenwalle‘,;x € [0, 2m]
NI oA © v 5 @ &,59
General solutlon of 4sinx — 8 = 0 is:
{m + 2nm} (b) {mr + nm} (c) {—m + nm} (d) ¢ not possible
. General solution of 1 + cosx = 0 is:
v {n+2nn} (b){m + nn} (c) {—m + nm} (d) not possible
For the general solution, we first find the solution in the interval whose length is equal to its:
Range (b) domain (c) co-domain (d) ¢ period
. General solution of every trigonometric equation consists of :
One solution only (b) two solutions (c)¢/ infinitely many solutions (d) no real solution
. Solution of the equation 2sinx + v/3 = 0 in the 4th quadrant is:
= (b) v = ()= (d) ==
If sinx = cosx, then general solution is:
C+nmnez) b)C+2nmnezy  (V (&+nm>2 +nm) (A& +nm, 2+ nm)
In which quadrant is the solution of the equation sinx +1 = 0
1 and 2™ (b) 2" and 3™ (c) ¢ 3“and 4™ (d) Only 1

. Ifsinx =0thenx =
vVnr,neZ b)E nez (c)0 (d)g
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1) Which of the following have closure property w.r.t addition and multiplication {0, —1}
7 5 -21-10 )]
2) Prove that ———— — y |
12 18 36 o R __ﬁ_'.___.I-
3)  Write reflexive property of equality of real number. T~ N A IV
1,1 _ e
4) Simplify by justifying each step. 1% . Y e~ AN D —
4 5 —} _.—_.._ il "l P . e S — —
5) Prove the rules of addition. % + S = ﬂ \ N
6) Prove the rules of addj Gon. 4+ < = ad+bc |
5721 111) S pa x Y
7)  Provethat AT AR L
12 fiz {hady 4 4 &4
8) Find the sum, differ 2nde) and’ prod.'ct ':n‘ ”x Lomplex numbers (8,9) and (5,—6)
—|1
9) _ Simpff (|
\ 10) | Sinify (2.5)6,7)
!._ "_a' |_'_ T % (26) _ 2+6i  3-7i
N 1) | Splify (2,6) = (3,7) Hint: 67) 347 T X5 et
12) Simplify (5,—4) +~ (—3,—-8)
13) Find the multiplicative inverse of the numbers: (—4,7)
14)  Find the multiplicative inverse of the numbers: (v2, —/5)




